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Tk = 0.056e-6;
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{81) = -a(Bl);
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wig = filter(l,a
wess = filter(1,
subplot (311)
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EET000 Spring of 2003

=

Oy

=]
=

Al

AL

!g =

—_—
—_—_—

.6310;
L o
[P 1

= —a(dl);:-

;

+ 11 zeros (1l
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title('digital channel filter')

ubplot (312) ;

plot{0:1:15, wl6E);
title('perfect squalizer approximz=tion with 16 taps'):

subplot (313);
plot (D:1:255
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title('perfect e

56);

gualizer approximation with 258 taps');




x10

digital channel filter

E ]
! 1 . I [ A I
] : 20 40 B0 80 100 120
%10 perfect equalizer approximation with 16 taps
] T
i | |
0 5 10 15
% 10" periect equalizer approximation with 256 taps
T T T T
1 ‘ 1 ﬁ 1 A J[ )\ 1
0 50 100 150 200 250 300



